





"__""“—"‘—\-z'p)ﬁn&’r‘ﬁ (KQUQ}LO mum-)oe}«.,'

LT

§L11J_72395‘°) 6’“"‘& wh‘h 2 ot L}n%ﬂ.ﬂ:uo &@H‘AA 'nmf Q

b o ooy rm:mbeh ,

’?ng PmoIA with ?_\m:,* unit

—- ""ﬂlﬂﬂ-gpd Sauarg nombey s




) 5D ll Y é W ANk

R | l
=’ Jnsr (1) andciiy










MMMM
_ﬁq‘-l[—!’l’é + l?‘f’(?—‘{'H'f‘ZJ

il _‘"J !

numb eah '



















Ex 6.3 Class 8 Maths Question 3.

Find the square roots of 100 and 169 by the
method of repeated subtraction.

Solution:

Using the method of repeated subtraction of
consecutive odd numbers, we have

() 7100 —-1=99,99-3=96,96—-5=91,91 -
/7=84,84-9=7575—-11=64,64—-13 =51,
01 —15=36,36-17=19,19-19=0

(Ten times repetition)

Thus v100 =10



(i 169 —1T="168,168—3=165,165—5=
160,160 — /=133,153 —9=144,144 - 11 =
133, 133 13=120, 120 = TS5 = 103, 108 —= TV
=83,88—19=69,69 — 21 =48,48 — 23 = 25,
20—25=0

(Thirteen times repetition)

hus v169 = 13




Ex 6.3 Class 8 Maths Question 4.

Find the square roots of the following

numbers by the Prime Factorisation Method :

(i) 729
(ii) 400
(iii) 1764
(iv) 4096
(v) 7744
(vi) 9604
(vii) 6929
(viii) 9216
(ix) 529
(x) 8100
Solution:

(i) By prime factorisation, we get
720 =3x3 x3Ix3x3Ix3
J729 =3x3x3
=27

(ii) By prime factorisation, we get
400 =2x2x2x2x 5x5
J400 =2x2x5
=20
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(iii) By prime factorisation, we get
1764 =2x2x3x3x7x7
J1764 =2x3x7

= 42

(iv) By prime factorisation, we get
4096 =2x2x2x2%2x2 X 2x2
xax2ndxd
V4096 =2x2x2x2x2x2
=64

(v) By prime factorisation, we get
7744 =2x2x2x2x2x2x11 x11
J?WMm:zxZKZXII
=88

(vi) By prime factorisation, we get
9604 =2x2x7x7x7x7
V9604 =2x7x7

=98

(vii) By prime factorisation, we get
5929 =7x7x11x11
V5929 =7x11

=77
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(viii) By prime factorisation, we get
9216 =2x2x2x2x2x2x2x2x2x2
x3x3
V9216 =2x2x2x2x2x3
=96

(ix) By prime factorisation, we get
529 =23 x 23
7529 =23

(x) By prime factorisation, we get
8100 =2x2x3x3x3x3x5x5
J/8100 =2x3x3x5
=00
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Ex 6.3 Class 8 Maths Question 3.
For each of the following numbers, find the

smallest whole number by which it should be

multiplied so as to get a perfect square

number. Also find the square root of the

square number so obtained.
(i) 252

(ii) 180

(iii) 1008

(iv) 2028

(v) 1458

(vi) 768

Solution:

(i)

(i) By prime factorisation, we get

252 =2x2x3x3x7
It is clear that in order to get a perfect square, one more 7 is
required.

So, the given number should be multiplied by 7 to make the ?

productaperfectsquare

L 252 X7 = 1?641saperfectsquare
Thus, 1764 =2x2x3x3x7x7

: Ji764=2><3x?=42

By prime factorisation, we get
=2x2x3x3x5
It is clear that in order to get a perfect square, one more 5 is
required.
So, the given number should be multiplied by 5 to make the
produt:t a perfect square.
180 x 5 =900 is a perfect square.
Thus, 900 =2x2x3x3x5x5
V900 =2x3x5=30
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(iii) By prime factorisation, we get 5| 1008
1008 =2x2x2x2x3x3x7 2| 504
It is clear that in order to get a perfect square, one more 7 is 2| 252
required. -1 126
So, the given number should be multiplied by 7 to make the 2
product a perfect square. 31 o3
= 1008 x 7 = 7056 is a perfect square. 3] 2]
Thus, 7056 =2x2x2x2x3x3x7x7 VA 7
J7056 =2x2x3x7 ;
=84
(iv) By prime factorisation, we get 2 | 2028
2028 =2x2x3x 13x13 =
It is clear that in order to get a perfect square, one more 3 is 211014
required. 31 507
So, the given number should be multiplied by 3 to make the 13. 169
product a perfect square. 13] 13
2028 x 3 = 6084 !
Thus, 6084 =2x2x3x3x13x13
V6084 =2x3x13 =78
(v) By prime factorisation, we get 1458
1458 =2x 3x3 x 3x3 x 3x3 £
It is clear that in order to get a perfect square, one more 2 is 41 129
required. 3| 243
So, the given number should be multiplied by 2 to make the —3- gl
product a perfect square. 31 27
1458 x 2 = 2916 B s S
Thus, 2916 =2x2x3x3x3IxIx3Ix3 3, 3
V2916 =2x3x3x3 1
= 54
(vi) By prime factorisation, we get 2] 768
=2x2x2x2x2x2x2x2x3 384

It is clear that in order to get a perfect square, one more 3 is 2/ 192

required. 2

So, the given number should be multiplied by 3 to make the
product a perfect square.
768 x 3 = 2304
Thus, 2304 =2x2x2x2x2x2x2x2x3x3
. V2304 =2x2x2x2x3

=48
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Ex 6.3 Class 8 Maths Question 6.

For each of the following numbers. find the
smallest whole number by which it should be
divided so as to get a perfect square. Also find

the square root of the square number so

obtained.
(i) 252
(i) 2925
(iii) 396
(iv) 2645
(v) 2800
(vi) 1620
Solution:
(i) By prime factorisation, we get
252 =2x2x3x3 x7 e s
Smce the factor 7 cannot be paired. j—ﬂﬁ—
. The given number should be divided by 7. 31 03
252 _2x2x3x3x7 3] 21
7 7 i [
=2x2x3x 1
=36is a perfect square
and, V36 = [2x2x3x3
=2x3=6
(ii) By prime factorisation, we get 3 | 2925
2925=3x3x 5x5x13 “'5‘“ 975
Smce the prime factor 13 cannot be paired. s 325
. The given number should be divided by 13. —
2925 3x3x5x5x13 S| 65
T3 13 13 13
=3x3x5x5 '

225 is a perfect square
and, J225=J3x3x5x5=3x5=15




(iii)

(iv)

W)

(vi)

By prime factorisation, we get
306 =2x2x3x3 x11
Since the prime factor 11 cannot be paired.
-, The given number should be divided by 11.
) 396 2x2x3x3x11
11 11
=2x2x3x3
=36 is a perfect square
and V36 = 2x2x3x3=2x3=6
By prime factorisation, we get
2645 = 5x 23 x 23
Since the prime factor 5 cannot be paired.
. The given number should be divided by 5.
2645 5 x 23 x 23
5 5
=23 x 23 = 529 is a perfect square
and, V529 = /23 x 23 =23
By prime factorisation, we get
2800 =2x2x2x2x 5x5x7
Since the prime factor 7 cannot be paired.
.. The given number should be divided by 7.
2800 2x2x2x2x5x5x7
7 7
=2X2%X2x2X 3%
=400 is a perfect square
and, 400 =J2x2x2x2x5x5=2x2x5=20
By prime factorisation, we get

1620 =2x2x3x3I x3xIx5
Smce the prime factor 5 cannot be paired.

. The given number should ‘be divided by 5.
1620 2x2x3x3x3x3x5

5 5
=2xdx3xFxIxI
=324 is a perfect square

and, J324—J2>c2>-:3x3x3x3
=2x3x3=18
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